Name: ______________________________Date: ___________ Period: ______

KEY
Quiz 3 Review:  Systems of Equations
Strand 3: Concept 3: Algebraic Representations

PO 4: Determine from two linear equations whether the lines are parallel, perpendicular, coinciding, or intersecting but not perpendicular. 

Using the Equations in the Bank below, find sets of perpendicular, parallel, coinciding and intersecting lines and write them below.  Some equations can be used more than once.

2y = 8x + 6
   y = 4x – 3              y = -2x + 3
     4x – y = -3              y = 
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x – 1
  

1.)  Perpendicular lines: ___y = -2x + 3________ and ___y = 1/2x – 1 _________

2.)  Parallel Lines: _2y = 8x + 6 or 4x – y = -3__ and ___y = 4x – 3 ___________

3.)  Coinciding Lines: __4x – y = -3_________ and __2y = 8x + 6__________

4.)  Intersecting Lines: ___________________ and ______________________

Write the equation of a line that is PARALLEL to each equation and goes through the point given. 

5.)   y = 2x – 3 ; (1, -5)



6.)   -3x + y = 12 ;  (-2, -1)

y = 2x – 7 





y = 3x + 5
7.)  2x + 4y = 3 ;  (-2, -5)



8.)  x – y = 4 ;  (-1, -2)

y = -1/2x – 6 





y = x – 1 
Write the equation of a line that is PERPENDICULAR to each equation and goes through the point given. 

9.)   3y = -x + 1 ;  (-3, 3)



10.)  -2y = 2x + 6 ;  (4, -2)

y = 3x + 12





y = x – 6 
11.)
2x – 3y = 6 ;  (-6, 3)



12.)  -2x + 10y = -8 ;  (-1, 1)

y = -3/2x – 6 





y = -5x – 4 
Write the equation of a line that is Intersecting BUT NOT Perpendicular to each equation and goes through the point given. 

13.)
6x – 2y = 8 ; (-3, 0)



14.)  5y = -4 – 10x  ; (0, 3)
Answers may vary but not to 


Answers may vary but not to

include a slope of 3 or -1/3


include a slope of -2 or 1/2
Strand 4: Concept 3: Coordinate Geometry 

PO 7: Determine the solution to a system of linear equations and two variables from the graphs of the equations. 

Identify the type of lines and then find the solution(s) to each system of equations by graphing if one exists.

15.)     5x + y = -2

      16.)  -5x + y = -3
          17.)  y = 2x – 2
    -30x + 6y = -12
              -3x + 3y = 3    
    
       2x + y = 2
y = -5x – 2 


   y = 5x – 3 


     
y = 5x – 2 


   y = x + 1


       y = -2x + 2
Type:_intersecting__
      Type:_intersecting__

Type:_intersecting__
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Solution: _(0, -2)__

       Solution: _(1, 2)__
             Solution: _(1, 0)__
18.)  -4y = 3x – 16
19.)  y = -3x + 5


20.)  -2x + y = 3
        3y = 4x + 12


  -2y = -4x


        6x – 3y = 3
        y = -3/4x + 4


  



        y = 2x + 3
        y = 4/3x + 4


  y = 2x


        y = 2x + 1
Type:_perpendicular
      Type:_intersecting__

Type: _parallel_____







Solution: _(0, 4)__

       Solution: _(1, 2)__
             Solution: _none_

Strand 3: Concept 3: Algebraic Representations

PO 7: Solve systems of two linear equations and two variables. 

Use the substitution method to solve each system of equations if possible.  Show all work!!!

21.)  y = x





22.)   x = 3y

        5x – 4y = -1



       
         x – 4y = 5



x = -1






x = -15
y = -1






y = -5
Solution: _(-1, -1)___



Solution: _(-15, -5)_

Use the elimination method to solve each system of equations if possible.  

Show all work in an organized manner!!!

 23.)  x + y = 8




24.)  -5x + 3y = 15  

        y = 1x – 2 



  
        -x + y = 3     
x = 5






x = -3
y = 3






y = 0
Solution: _(5, 3)__




Solution: _(-3, 0)_

Use any method to solve each system of equations if possible.  

Show all work in an organized manner!!!

25.)  x = 3y





26.)   x – 5y = 10
 

        x – y = 12




         4x + 2y = -4

x = 18






x = 0
y = 6






y = -2
Solution: _(18, 6)__




Solution: __(0, -2)_

27.)   3x + 2y = 11




28.)  3x = 4y + 18
        7x – y = 3




        x + 3y = -7
x = 1






x = 2
y = 4






y = -3
Solution: _(1, 4)__




Solution: _(2, -3)__
Strand 3: Concept 2: Functions and Relationships

PO 5: Recognize and solve problems that can be modeled using a system of two equations and two variables. 

Strand 5: Process Integration

HS.MP.3: Construct viable arguments and critique the reasoning of others.

HS.MP.4:  Model with mathematics.

HS.MP.6:  Attend to precision.
Common Core:

HS.F-BF.1. Write a function that describes a relationship between two quantites.

Explain what each variable and coefficient represents and what strategy you used and why to solve the systems of equations. Be sure to verify your solution. 
29.)   If ABC Company sells each of their t-shirts for $8 with a $10 printing fee and BAD Company sells each of their t-shirts for $5 with a $25 printing fee, at which point would the same amount of t-shirts cost the same amount of money?
Strategy Used and Why:  substitution; y was already solved for
Define Variables and Coefficients:  x = number of t-shirts; 5 and 8 represent the price per shirt; y = total cost; 25 and 10 represent the startup fee which is the y-intercept (starting value)
Solve:

y = 8x + 10

(5x + 25) = 8x + 10

x = 5 t-shirts

solution: (5, 50)
y = 5x + 25





y = $50
Prove your answer is correct:  50 = 5(5) + 25




         50 = 25 + 25





         50 = 50
30.)  
Perry and Chelsea each improved their yards by planting daylilies and ivy. They bought their supplies from the same store. Perry spent $132 on 12 daylilies and 6 pots of ivy. Chelsea spent $159 on 3 daylilies and 12 pots of ivy. What is the cost of one daylily and the cost of one pot of ivy?
Strategy Used and Why: elimination, both equations were in standard form
Define Variables and Coefficients:  x = number of daylilies; 12 and 3 represent the price per daylily; y = number of ivies; 6 and 12 represent the price per ivy; 132 and 159 represent the total cost of combined daylilies and ivies purchased
Solve:

12x + 6y = 132
 



  y = $12

solution: (5, 12)
3x + 12y = 159




  x = $5


Prove your answer is correct:
12(5) + 6(12) = 132





60 + 72 = 132





132 = 132
31.)  Jasmine’s school is selling tickets to the annual dance competition. On the first day of ticket sales the school sold 13 adult tickets and 14 student tickets for a total of $108. The school took in $56 on the second day by selling 7 adult tickets and 7 student tickets. Find the price of an adult ticket and the price of a student ticket.
Strategy Used and Why: elimination, both equations were in standard form
Define Variables and Coefficients:  x = number of adults; 13 and 7 represent the price per adult; y = number of students; 14 and 7 represent the price per student; 108 and 56 represent the total cost of combined student and adult tickets purchased
Solve:

13x + 14y = 108




   x = $4

solution: (4, 4)
7x + 7y = 56





   y = $4 

Prove your answer is correct:
13(4) + 14(4) = 108





52 + 56 = 108





108 = 108
32.) A test has twenty questions worth 100 points.  The test consists of True/False questions worth 3 points each and multiple choice questions worth 11 points each.  How many multiple choice questions are on the test?
Strategy Used and Why:  elimination, both equations were in standard form
Define Variables and Coefficients:  x = number of true/false questions; 3 and 1 represent the amount of points per true/false question; y = number of multiple choice questions; 11 and 1 represent the amount of points per multiple choice question; 100 and 20 represent the combined points of true/false and multiple choice questions
Solve:

3x + 11y = 100
 



   y = 5

solution: (15, 5)
x + y = 20





   x = 15

Prove your answer is correct:
(15) + (5) = 20





20 = 20
Review for Quiz 3: Systems of Equations
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